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Section A
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(Very Short Answer Type Questions)
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Note : Attempt any Three questions out of
six questions given (Word-limit 50 words
each). 3x2=6
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f
management‘ OL cost accounting t
SRy L

(ii) Idle Time. |
Frerfafas &1 o7 wfm -
(i) =™ owEd |
(i) =EER "W |

4. Explain the difference between direct and

indirect expenses.

W&Tammﬁwaﬁﬁmwm
it |
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5. What do you mean by cost audit ? Explain its
advantages.

AN SPeUl W T ¥ T ¥ 2 TOe
el HT AT FHIfST |

6. Give the specimen of Contract Account.

SH WW F A ST |

Section B
Qs ‘g’
(Short Answer Type Questi-ons)
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{. “Cost accounting is becoming more and more

relevant 1n emerging €CONOMIC scenario jp
TCIC Y E

India.” Comment.
i CARNICIER IR = acdd 9RAE e
o w s @ W sed € 1" feum

g |

Discuss the different methods of Pricing the
materials issue from stores for production. Also

explain their advantages and disadvantages.
=R ¥ SR @ fou weEil % qea i
=1 fafygl =1 fog= IS | S a1y qen
Tt @ st 9o wifee |

3. Explain the following by giving suitable
examples : |
(1)  Halsey Premium Plan

(i) Emerson Premium Plan
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(iii) Gantl Bonus Plan
(iv) Merrick Schemc
(v) BedeauX Point Premium Plan.

() wed fwEE A

(i) AL i ST

(iif) oo W A

(iv) #few yome

(v) w<tdm fag wifem =een |

4. What do you mean by classification allocation,
apportionment and absorption of overheads ?

Explain in detail.

Suemal & affetw, famor, sfwaem w
HAESHA § oY = R € 2 fawmR Q
RREIE
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5. The product of a company passes through three - |

,

-

different processes known as A, B and C beforé'-" |

the product 1s complete. From past experience

it is ascertained that normal loss in each process
is an under. Process A—2%, Process B—5¢

Process C—10%.

'
W
Gy

A and B is sold at Rs. 5 per 100 unit and tha

of process C at Rs. 20 per 100 units.
The output of each process passes imxhediafélﬁ :
to the next process and finished units form "

process “C’ to finished stock account.

4 __,f'.'
A ) ¥

b
o fiie
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The following other informations is :
Process Process Process
A B B
Rs. Rs. Rs.
Material Consumed 4,000  2.000 1,000

Direct Labour 6,000 4,000  3.000
Manufacturing
| Expenses 1,000 1,000 1,500

in process A Units A 20,000 units at cost of
Rs. 8,000 were issued the Actual output was :
Process A — 19,500 units

Ij Process B — 18,800 units

“Process C — 16,000 units

Prepare process accounts.

| TH IR AR 'R @ fau dw fafy=

ufskaest A, B qo1 C ¥ B TRl ?

;'1' TSe sy & oMYR W WIS HEE
o wft e gafaa @ -

TERAT A—2%, ufsrar B—5%, wiFar C—10%

(3/03/30)K-U-203 7 P.T.O.

collegeadhyayan.com

e —


https://t.me/collegeadhyayan
https://collegeadhyayan.com/

JAF GlHaAT o SR STl Wik ¥ @t
99 fxan s @ qen fifie et whea C
A W K ol Wt ¥ Frefafen s g
g

gishar  wfshar  wiekan

A B C
. . %,
ggE |l 4,000 2,000 1,000
el g4 6,000 4,000 3,000
fimfolt =4 1,000 1,000 1,500
8

collegeadhyayan.com



https://whatsapp.com/channel/0029Va52XEgChq6RymfVG71R
https://collegeadhyayan.com/

2000 % F @@ ¥ 20,000 THEA WEH

1 ST FT TE | TS GfhAT I Srtash
A

IArd 39 HhN 2
ofEar A — 19,500 ST

afen B — 18,800 gehreal
gfFar C — 16,000 3h1EAT
gfear @ 99EY |

6. Mr. X manufactures stools, chairs and tables.

The materials and wages cost are separated as

follows :
Material
Rs.
Stool -
Chair i
Table i
(3.'03:'31)K-U~203 9
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Rs.
48
40
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His total factory overheads in the year 2015

were Rs. 6,00,000. You are asked to determ; 4

the work cost of each type of furniture after &
assuming that one table is equivalent to 4?

stools and 2 chairs are equivalent to one table

)
415
o

for the purpose of overheads allocation.

The production during the year \%:r

-5y,

Dl
AN

Stool 6,000, Chairs 3,000 and Table 600.

.
= 36
Eas| 60
LE 440
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a9 2015 & foU 38% %@ T sutem
6,00,000 % 9 | AUH TAF TE =
HREFE ARG T8 WA g Teifm sl €
fiF SUREd H dear & fou wF AW =R
T B W T A A T AN @
T T |

g9 & SNE SARA =dA — 6,000, FHiEE —
3,000 9N HST — 600 &1 |

7. What is meant by work certified and work

uncertified ?

YA U STyHIU % ¥ 1 eI © 2

8. How do prepare reconciliation statement ? Give
its specimen.
TEE R v %9 @R R e & 2
SHRT T e
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Section C
Qusg ‘¥’
(Long Amwer Type Questions)
(e I gye)

Note : Attempt any Tiwo questions oyt of
four questions given (Word-limit 500 words
each). 2x14=28
fa ™ W oae ¥ Y R R w9
SW T (T=-H1 500 = wew) |

1. The net profit disclosed by Sanjeev Company
cost accounts for the year was Rs. 60,228
while the net profit as shown by the financial

accounts. Amounted to Rs. 39,520 due to the

following reasons :

(i) Overheads in the cost accounts Were
estimated at Rs. 15,000 the change for

: t
the year shown by the financial accounts
was Rs. 13,864.
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(v) Transfer fees received amounted Rs. 56.
(vi) Income tax charges Rs, 18,000.

Reconcile both the profits.

W R wfem dw 3 LD
00,228 3. 1 W W frmm | s f

é@i‘frﬁwaﬂuﬁ@w,szoamﬂﬂmn
ﬁtqlzn:

) wRem ol ¥ softem 15,000 = =%

S R W 9 R oel ¥ @
13,864 5 5 9 |
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(v) %Wmtmw%-am-@ﬁ.
(vi) 3 18,000 % ==t fFar mar |
A T w faemm s

2. What is the concept of overheads ? Define the

types of overheads and explain the methods of

Absorption.
sqqRem e wE E 2 W:
g fafeg d ST W e
fafag |
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ial 7 Write
ou understand by Material

d
ol | control.

i ia
the major techniques of mater

| mwaﬂ%ﬁ%?mﬁm
# @ ke fatee |

4, What do you understand by process costing
Loss and

method ? Explain Abnormal
) Abnormal Saving.

L o o faf @ e N wEEd € 7
ST & 9 S qEd i T HIST |
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